LUGARI DISTRICT JOINT END OF YEAR EXAMINATIONS

FORM 2 PHYSICS  

MARKING SCHEME

1. i)   16.33mm

   ii)  1 Rev     = 1mm

         2 ½ Rev     =  2 ½ mm

                            =  2.50mm

2. B – Large diameter

     A   - Small diameter

3.a) To allow air passing above to take long distance i.e move faster to create low pressure and high pressure below so that it lifts the plane up.

      b) Volume fult        =  A1V1       =   400cm3/s

                                               V1       =   400




                3.142  x 0.7  x 0.7      = 259.8cm/s

4. a) For a system in equilibrium, sum of clockwise moments is equl to sum of anti clockwise moments

    b)  Openning a door

          Steering a car

     c) i) Load L = 0.25  + 1.25    =  1.5N  - 10N      = 2.5

         ii)  Taking moments about B


       1 x ( 0.5 – x)   =  0.25  x  ( 1 –x)  +  ( 2.5 x  X )


           0.5-x    =   0.25  -  0.25x + 2.5 x


                 X   =  0.0769

5.  Temeprature

     Humidity

6. a) i)        V 
=   4/3R3 ΠR3     

=  4/3  x  22/7  x ( 0.00025)3

=   6.55 x 10-1 m3
    ii)    A 
=  ΠR2



= 22/7  x (0.1)2



= 3.143  x 10-2 m2
     iii)   t     
=  V/A



= 6.55 x 10-11



    3.143 x 10-2


= 2.084 x 10-9
     b)    The patch is a smooth circle

            The drop is spherical in shape

7. a)   Concave 
- formed from a spherical reflection


Parabolic
- formed from a conical reflector Or  any other correct difference


b)  f  - correctly measures from the paper   x 3


c)   U  =  40cm


       m = v/u


       2  =  V/400


        V = 800

1/f   = 1/40 + 1/80

        
 f  = 3200/1200



= 26.7cm

8. a) i)  Maximum displacement of a wave from stationary point

        ii) Time taken by one oscilliation of aware profile

     b)  V = d/t    = 0.32/1    = 0.32m/s



T = 8 



F = 1/8  = 0.125



V = fλ 



λ
= v/f

= 0.32/0.125




= 2.56m

9. a) Correct direction on a diagram

    b) A 
- South


B 
- South 

     c)  Correct diretion on each A and B each

     d)  i)  P  - commutator on splint rings   Q – Carbon brush

         ii) Motor

        iii) Allows  exchange of direction of current in the coils


iv)  Anticlockwise


v)  Amount of current


    - Number ot turns


    - Strength of magnet

10. 

V 
= d/t



320
= 24 + x




       0.4



24 + x 
= 132



      X 
= 231 – 24




= 108m 
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